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2. [2] 4925 R AMAAD (5 ) 20,000 0 20,000
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AetBA§ 9 @ -159,0009#13]= -159,000
3. (2] ke 52,328 28,670} 23,649
LA A4 481 481 0
2, 4k g 51,147 27,998  23,149|NEARETUH] : 85,0009 +13]= 85,000
AFEFAE 0 1,000,000973= 7,000,600
FEE 1 -700,0009 18 = 700,000
FEPAH(ZA)  5,000,0009+13)= 5,000,000
AR & (Z3) 1 11,764,000 +13]= 11,764,000
3.9 ETqdH| 700 200 500| A E 2 EFTY ¢ 250,0009+2F= 500,000
4. {24 AHLAAH(FA) 20,405 12,887 7,518
1LRAA%A 9 A 17,99 11,270] 6,729 (%Aiaa_s%m%a £ 1.380,00091+178 x4 5,520,000
{(AEA 3534 0 140,00081+ 19 =49= 560,000
(ARA3F)da, ¢ 13,0008 %17= 13,000
(435828 F 1 36,0009 «1%= 36,000
(Ayd 3358 F7H 600,000 «1= 600,000
2,85 5] 550 500 so| (B HAIFIRFRRAM 50,0081 50,000
3.7 A AU T 1,856 1,117 739 (A PA3F)AERER 739,000+ 1= 739,000
5. [Z]1F AANA8(EA) 19,146 18,586 560
177 A% 71 16,900 16,444 456 | (A Y 1 _35)7]1 %5 1 100,00081+1%= 100,000
(HEA_3F)F40 1 100,0009+148= 100,000
(BEH 35 EF7M 1 200,000 1= 200,000
(SEA3F)8a5F 1 26,0008+13= 26,000
A7) 20280 109 06% 094] 558 055 11 HIEER zxFEn
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5 M Ed4E A A

of A - 734 (&9l - H)
L A A4 | A3 | wa st
33 a9 A [Aanes | arsAws | O8d | dag | 23 - AR
(*a’f‘é%i.s%)ﬁlﬂ% : 30,000%1+19= 30,000
2 SrE 2 550 500 50 E*é%@j%)‘;&%ﬁg%ﬂﬂl : 50,00091+1%8 50,000
3EIAGY YRS 1,696 1,642 S| (A BA_35)A8 P8 © 54,0009*1= 54,000
3.8mey ¥4 16,800| 16,800 0
Ly dsLy 800 800 0
LIz]guggHAA3e9 800 800 0
Lgwrgd F2) 800 800 0
2.8 REYY 16,000 16,000 0
L[2]825L9 1,000 1,000 0
1. Arib4gu) 700 700 0
2. AT &0 300 300 0
2. [2]FRIFA AT RARNES) 15,000 15,000 0
1.gwksgon 2,390 2,380 0
2.9 1,720 1,720 0
3. 2&EgH 9,450 9,450 o
4. FHAG G FF 1,440 1,440 0
7.ERRAE §F 1,800 1,900 0
LAadghs 9 Ald 1,900 1,900 0
LAEgEEAY 1,900 1,800 0
LI=]2AT)FE4 By 1,500 1,900 0
1. Y wkaegn) 1,500 1,900 0
8.8 ATEE 0 0 0
1. oH]H] 0 0 0
1. 48] 1] 0 0 0
L. [Z]eH]H] 0 0 0
1. <flH] 5| 0 0 0
2. [F1f A Eeun) 0 0 0
1. mw 0 0 0
X7 2021 109 06 094] 558 05% 12 AR EREH HelzSdn
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A2 @A

635,397

531,806

103,591
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